Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp 1S Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5154-55.dwg

@ SR, iy
‘ g W o
Solglinh g8, Eq
Bore 2K f= g us
F7 p iCie % G 9B Gy
DOORS :g«%g : s E Ly E
*0; \»’ = gg g 2 & gz
® NS : : p) (23]
Classic-Craft. GiE g 7 UE
: : Mo, [o] o
e TR
g g @ > ‘6%
& 508 Bu
& oo gg
>
0 [T
oX X0 : § gg
OPAQUE FIBERGLASS SINGLE DOOR = = °
0
w/ DIRECT SET SIDELITE(S) -
INSWING 55
" v (8}
- Lud
NON-IMPACT ~—71.75" MAX O.A. FRAME WIDTH —] :>§ 3
rao Z i
15.5" MAX. 37.75 MAX ___, To |y o8
FRAME WIDTH I‘FRAME WIDTH 23 13 S
g2 (3o,
7/ 4 "'65’ 0
7 7 T
5 5 T2
3 |5~
I < Q.
[+ o
>.
. = m
<3
O =
EVALUATED FOR USE IN THE STATE OF TEXAS > T O el O
The Fiberglass Door system described herein complies with the 2018 Intemnational 3 % X ®
Residential Code {IRC), Sections R301 & Ré09 and the 2018 International Building Code s
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions: 2
o
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to %
base material shall be beyond wall dressing or stucco. ) “ , |
2. When used in areas requiring wind-borne debris protection this product is required to be / /
protected with an impact resistant covering that complies with Section R301.2.1.2 of the ‘ L5
IRC and Section 1609.1.2 of the IBC. —1=(yp)
3. Allowable design pressure requirements must be equal to or less than the design pressure "
rating shown in the design pressure chart, sheet 1 of this drawing. g
4. Conditions not covered by this drawing are subject to further engineering analysis. .
(@)
2 DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) Z
TABLE OF CONTENTS CONFIGURATION | REINFORCEMENT w/ FJ PINE JAMBS w/ COMPOSITE JAMBS pATE: 1/06/21
SHEET # | DESCRIPTION SHEET # REQUIRED o NTS
1 Typical Elevations, Design Pressures & General Notes 6 | Vertical Cross Sections POSITIVE | NEGATIVE | POSITIVE | NEGATIVE - : RW
2 Door Panel Details 7 Frame Anchoring DWG. BY:
3 Sidelite Panel Details 8 Hardware Details XO. OX. OXO NO +55.0 -60.0 +35.0 -45.0 CHK. BY: LFS
4 Elevations 9 Bill of Materials & Components ! . DRAWING NO.:
5 Horizontal Cross Sections YES +70.0 -75.0 +60.0 -65.0 TX-5154
SHEET _ ] oF _9

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:A\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5154-55.dwg

i i,
1 48" = 1.39" " e to
]'48 ’[ 4“” 03]“ t_“ 4 —.—-I “i:“" %g in gl‘b‘)
0.4u ] g —— 0'4" B e 5 ra i by i E
f - T ~ * ~ ] =~ 203 we = G
- ] - ’ ] H [ y P c ui - 2 :{*
N = ™~ = N il s g 02 32
- B N = : B R N i5i EF E:B 99
™~ ) e T 8 - - § . NG ) by Zs¢2 0 E
k ¥ 4 0t ¥ ~ © o0
/O / /o / R L
OAKCAP  HINGESTILE LOCK STILE OAKCAP  OAKCAP  HINGESIILE LOCK STILE OVCESS 3 982 u,
(WOOD)  (ENG. WOOD) (ENG. WOOD) (WOOD) (WOOD)  (ENG. WOOD) (ENG. WOOD) { ) 5 ale .o
g RAes I
1"\ HORIZONTAL CROSS SECTION (“2 "\ HORIZONTAL CROSS SECTION : D ok
[
a
36.0" MAX. 35.813" MAX. 35.813" MAX. 2
~——  DOOR DOOR —— DOOR  ——] -8 E
PANEL WIDTH PANEL WIDTH PANEL WIDTH B | &
| ey
4N 0 |5 e
2 K
f TOP RAIL B EE |9 o
o Qi o898
% : (COMP.) i 5 Lo iyl &
/\ o e 2 ©
N N \y ] 7 & g
? \I7———FoAm corRe—|" - ! .
' s b i
O ) O
[¥%) [Ty LL) ks N
T H x z - H K S ]
Z 4 g g O i — .7- =
2 1 E 1 £ $
oz ] o e [ e — 0
8 3 8 Z
A ® Aa ®© a ® // 2
% X R X R X ] /0 >
= = = L
in in ey
2 8 3 ~ATTT—rBERGLASS— ||
© © © - SKIN i
<C
z - = o
o 3 N :
> > > © I —somomrar—"| S )
COMP. ,
DOOR PANEL DOOR PANEL DOOR PANEL 1 (COMP. L * o _1/06/21
‘ BOOK . Hybrid Door . U1 Door : e N.T.S.
DWG. BY: RW
" ] N CHK. BY: LFS
Classic Craff” SERIES DOOR PANEL /"3 VERTICAL CROSS SECTION /4 "\ VERTICAL CROSS SECTION [ *:
FIBERGLASS DOOR SKIN: 0.095" MIN. THK. TX~5154

FOAM CORE: POLYURETHANE FOAM (1.9 PCF MIN.)

\2/ \2/

SHEET _2 oF _9

© z021 R.wW. BUiLDING DONSULTANTS INC.



WAL i
c’*ﬁf‘ ; $ %“htg o ]
o~ f0i, dy.% 2% 0
112 —=  |=—1/2"GLASS BITE e, 29, B
Es o o
- [N ) Z :
b : u QW 2]
fj 3 L o = Noul
; : 4 £05 3>
PVC INSERT ' : 38 28g 33
@@ — 1" O.A. THK. GLASS : 3 dge @F
BACKBEDDING 251 ¥ 2ok o%
COMPOUND \ ]/8" TEMPERED ":‘5;&-:‘”\:\:”‘:‘:""% 5‘ ON g ﬁﬁ
L Glass —|  |=—1/2" GLASS BITE 3 28% b
2 = G 6 @S
* 18 GA. X 1" BRAD NAIL e ? Rok <%
] o [}
(LOCATED 1-1/2" FROM ENDS T ARSPACE s X °E
& 4' O.C. THEREAFTER) T \ oV C INSERT : & g Iz
e 1/8" TEMPERED — 3/4" O.A. THK. GLASS 2 e
BACKBEDDING GLASS BACKBEDDING 3
COMPGUND STEEL SPACER COMPOUND ™|
) /— 1/8" TEMPERED
/ 1"\ HORIZONTAL CROSS SECTION GLAZING STOF {7/16' son - GLASS 9
3 GLAZING DETAIL 18 GA. X 1" BRAD NAIL & =
N Gl i sioted Glass (LOCATED 1-1/2" FROM ENDS S~ ARSPACE K S
& 4" O.C. THEREAFTER) S
1/8" TEMPERED Loy |s: §
15.5" MAX. BACKBEDDING — | GLASS =2 |gl
FﬁgyE WIDTH COMPOUND STEEL SPACER Lé‘% ol b
‘VkAX. 0 < ~
D.LO WIDTH GLAZING STOP (7/16") . = N E
2 o
/ C) GLAZING DETAIL o &
/{// 3/4" Insulated Glass o o
’ >
m
AR SPACE AIR SPACE
- 10 1/8" TEMPERED 1/8" TEMPERED 1/8" TEMPERED 1/8" TEMPERED
x 4 GLASS GLASS GLASS GLASS
s 8 \3/
r * R
Lg - \ o) Vi 19 o
< a EXTERIOR ’ INTERIOR N <2 ! 2 2
& . @, AR " TR 1" O.A. THK. GLASS —= — g i 3/4" O.A. THK. GLASS (59 i 2l
> hagl== gl [
< = & &
: STEEL SPACER = STEEL SPACER =
B &
© g GLAZING STOP N ﬁ_i GLAZING STOP N ___i
(7/16) N (7/16"
f =
S
BACKBEDDING BACKBEDDING
/// SIDELITE COMPOUND SIDELITE COMPOUND !
/ ADAPTER ADAP
;P TER oatE: 1/06/21
O GLAZING DETAIL @ GLAZING DETAIL scaf:  N.T.S.
2 1" Insulated Glass 3/4" Insulated Gloss DWG. BY: RW
CHK. BY: LFS
@ /"2 VERTICAL CROSS SECTION i
@omscr SET SIDELITE FRAME \3/ TX—5154
SHEET _3 oF _9

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5154-55.dwg

© 2021 R.W. BUiLDING CONSULTANTS IND.



"ON| SINVLIMSNGOD aNIgIing "M'sd L 202 @

2SBLL—d4 # NOIVMISIONMN 40 ILVOLLLYID SNOISIAJY
SHIINIONI TVNOISSIH0¥d 40 QuVOE SVXIL SNOILYATTI Ad 31VQ TON|~ = |0 9_
megcla N2 S
LBLE'6S9'CLE FON 8udlyd : N 0
S65EC 14 OSMIDA OFZ Xog .o.m\&\w& ATHNISSY H0 Ldvd < m =1 5 &
“ONI ‘SINVLINSNOD SNITUNE < . g 1 4_
4004 SSV19434l4 -l lEBlEle X
$ZLHOL# "3'd SYXIL NL-YNHY3IHL i ol ulE m
B'd PIUYDS 4 UOPUA]  iAg pespdeld sjuswinoog 110N1a0dd S HEIE %
Jzp
—
3
Lo
&8
o of
[TV " |
vy N
[T
o oe
22
< <
o z Z
a3l
. 02 | N W
TN & .. ..
< = ar
5 |.8l.8
L 1ed /| &
£ EFIEE
2 1 alxo
[2>4 "
<
T
@ \ z 8 | &
s | €
/// Q =
AN v E
o i o N

©
b4
®

ELEVATION
10) (@

SEE HARDWARE CHART
TN

(2
&
\

i

Classic Craft Door Panel Options
Panel options shown are for illustration and are representative only
(similar opaque panel configurations are allowed)

©

pO

ELEVATION
XO

BMPSS-1S15-XL\sBuIMRIQ - D\(L515-2515 XL) SeHBP!S 195 1id S| dWiUON B4 anbed0 7.8 9 .L ‘8,9 - XXX YA - IALL\SUI 0 1daq sexaL - B\LNINVINYId N1 BULBY\SIUSID\Z



TON| SANVLTIMSNGI SNIgTINg "M L2002 @)

2681L—d # NOLVMISIORN 40 ILVOIIILNID SNOISIATH
SHIANIONT TYNOISSIJ0Nd 40 aNVO8 SvX3l mzmﬁﬂﬂmﬁmwmmo Ad dlvd fON Slalzln] « 9_
ui 1ig
LB16'6G9°CL8 "ON 8uoyd : NS O
G6GEE "4 OOMIPA 0£Z Xog 'O'd \h\wg AMENASSY MO Ldvd 3 W 50 °©
“ONI ‘SINVLINSNOD ONidNg N . z | 5_
4004 SSV19¥34l4 =l &5 Ele &
SZLPOLE "Td Swxal NYL—VYAYEHL g s|x|Z B
“3'd IPILYOS ‘4 UOPUAT  :Ag peupdeud spuewnooq *10NA0Y¥d 3 z2|5|8 @

/i
7

D)

27

/” 4\ HORIZONTAL CROSS SECTION

w Shown w/ Back-to-Back Jambs

OO0
\

@< E / EXT. SHEATHING

2
EXTERIOR

/4

A\
W

D}

1
/ 2"\ HORIZONTAL CROSS SECTION

EXTERIOR
INTERIOR

//

&/
7
S € Ptee ™

/3" HORIZONTAL CROSS SECTION

\5/ Shown w/ 2X Reinforcement

;
2

g
A\

-’

/"1 "\ HORIZONTAL CROSS SECTION

D%YWALL k g @

EXT. SHEATHING 0.15" C-SINK
_\ __..l — v

BmMpsS-5 L G-X1\sBumeld - D\(£515-2515 X1) SaMPPIS 195 1@ St dwuoN 94 anbedO 2D 8 78 L '8.9 - XXX ¥Q - [1\su} J0 1daq sexa] - S\LNINVINYId N1 BuLBY [\SIUai|D\Z



"ONT SINVLTNENDD aNIQUNE "M'd L 202 O

ZS8L1—d # NOLVMISIOZN 40 ILVOIHILNID SNOISIAGY
SHIINIONI TWYNOISSIHONd 40 Q¥VOS SVX3L mzom%%%mm\m,omo Ad divd [ON Slalzlnl < 9_
wn L
L616°659°CLB TON suoyd : N 0
G6SEE 14 OOMIBA OSZ Xo@ 'O'd \h\w@ KGNSS d0 1avd 9|5 = 55 5
"ONI ‘SINVAINSNOD ONIaTing N .. z | 6_
4000 SSY19y34di4 =l |ElElg &=
SZI¥OL# "3'd SwXal NAL~YWH3HL i w AL g8
*I'd PIUYDS "4 uopukl :Ag pedodeld sjuswinoo( 1oNaoNd 518 W m m 5
\ﬂ a\.lh
. 5
2 Q &
e S &
= O =
- I T2 oz
O
<=
B Dmr s m Mv
o Els
— M S|2
® an
3 x @
S B O
& Y oz
e b =
) ”“w P
o}
[~
O
[y ...A..
o
| —
o
. ® 3
\ g (e
- ® *
=
<
z
-
[+
o]
L
o
o
3 ¢
= O
o
) (0o
oz
{L
5
L

EXT. SHEATHING

/"3 VERTICAL CROSS SECTION

w Inswing Sill

B
-©
.

(@)

E===aa=== o
Q= :
0 o
S P @ tw
oz z S
~ o o
/ ~ G (®
(%]
(7]
[ 7]
Q
- QO g
D 3 =
A o 5
> g
= o o
< O — (0 Q
z < 2
[%4 =z -
a = &
&
>
o0}
B33
)
B

1. Silt liem #'s 32 & 33 are attached to jambs

Note:

BMPS5-1515-X1\sBUIMeIQ - D\Z5L5-251S XL) SOMBPIS 39S 11 S| dwijuoN 4 anbedO D2 8 %8 . ‘8.9 - XXX ¥A - 1QL\su} 40 3daQ sexa) - E\ININVINYId NIL BUIBYL\SIUSID\Z



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonimp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5154-55.dwg

£ (TYP.)

g JAMBS/
MULLION
£ (TYP) ——] |=m
m 4 (TYP) —]
] T 1
o
- _ — =3
%
HEAD & JAMBS
_ (TYP) N
_BACK-TO-BACK _ ]
2X REINF. n
(TYP.) %<
- - 3%
WOOD 0 od
CONCRETE Q
- SILL (TYP)) -
i | -
% WOOD
o CONCRETE

XO/OX

® 1y

¥ N

L |

TYPICAL @ EACH 2X REINFORCEMENT

1/
TOE-NAIL DETAIL @ HEAD
i m 4 [TYP) ——
4 (TYP) ,,‘
{

11

TN

d

2X FRAMING —_
(TYP.)

el

DOOR FRAME
(TYP.) -

H
4

!
1
4

I 1
HEAD & JAMBS
(TYP.)
BACK-TO-BACK |
2X REINF.
(TYP.)
- woop @
CONCRETE
SILL (TYP.)
1 [ 1

N‘C\-\'\'}\l‘?”li}lz

FLOOR SUBSTRATE MATERIAL (TYP.)

CONCRETE {MIN. 3000 PSl)
WOOD (S.G. >=0.42)

FRAME ANCHORING

>

£ i O ?._&‘
PO )
ﬁiff/ i T 3
& ™3 10 :im
Gu i et (9N
‘ﬁ@%i Wiy
e ¥ oizie
@ #8x212 | 9L ol
PFHWS ‘*?zz;* I e
JAMB TO HEAD DETAIL Nadoee®
(TYP))
JAMBS/
MULLION
| 1
o
— - &
%
<o
<
IE
in O
-l ~o
FRAME
" mvp)
}—i \\
‘ \7
o

300/\
/ 4
_1

TOE-NAIL DETAIL @ SILL

TYPICAL @ EACH 2X REINFORCEMENT

uj
ag
;g )
-
3o - o
EX o o
£* o 2
0 ui Om o
e 20, 2
b .o
c &L"‘r- p}
5 o %
4
K 209 &
[ =R =
> SJ5© 0
2>m @
Z2op &
on. 2
& Oon =
o x2
o z 0 =4
g §mg [«
o =56 82
®  Baf g
& 8
:
-
PR g
3
3 =
0
o

CERTIFICATE OF REGISTRATION # F—11852

o
S| 2
B S
1 =
W |3 2
ES <<
¥ m
W 1= w
T wl <
g IE] 7]
o (g £
VORI vl RS I
5 14
2 o
o 3
0. 0.
>_
m
%]
b4
\®,
o
o
Ll
<
o
o
4
oaTE: 1,/06/21
scAle:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—5154

SHeer /7 oF _9

© 20271 R.W. BUulLDING CONSULTANTS INC.



TONE SANVLTINSENDOD aNIgTng "Mm'y L2002 @

2G8LL—d # NOUWVMISIONY 40 3LVOIJLLNIO SNOISIAZY -
SYIANIONT TYNOISSIJ0Nd 40 Quvos SVXIL SIVIIA FHYMANYH Ag 31va_ON Slalzlol < 9_
0 L
L616°659°CL8 I'ON 8uoyd - NI V)
QBGES 14 ODUIDA OCZ Xog .O.Q\N\Nu% -ATBNISSY d0 Ldvd % m P al°
“ONI ‘SINVLINSNOD ONIaling N .. z | 8_
4000 SSY19¥34id “lLlE &g &
SZLPOL# 3'd SWXEL NYL—VYAYIHL i w ol x|Z ]
“3'd IPIUYDS ' UOPUA]  iAg peundeid sjuswnNooQ :10NQ0¥d HEIEHHE &

2X STUD/2X REINF.

@ BACK-TO-BACK

HINGE DETAIL

@)

L @]
@

® e~
AN

[

_
o
o}

gWVr 40 300d ARTAH/ LN
dOLWO¥4 .SZL'LL (dAL).SL°62
gWvr 40 | ¥00ax00s
dOLWO¥4 .52 L ('dAL) 5262 @
LR * M
L . g 3
s : )
oc s
T I
28]
e

(5" 7} .88}V
S ——

|
|

\

g
STRIKE JAMB
Latch and Deadbolt

=
<
(o
)

5
et
S
i
Ll
23

anr
Q
B
O
<C
]
0
o8

=2
1%} ; Q
® 2 @ @ ) y
® 2 [ .-
[ A Q _.Il.
pHmH) el 3l 3 = 2|5 o)
““  — ““.1\_. ““ Mm \“\ mm o
VT HE a8 3
a|x ' haid i
oy x Q
x O
w 3] W o¥
N M e
o
S

BMp'sS-15 L §-X1\sBuImeld - D\Z5LS-25LS X1) SaNBPIS 185 4id SI dwjuoN D4 anbedO DD ,8 78 £ '8.9 - XXX ¥d - IQL\su] J0 3daQ sexs) - S\LNINVNYId N1 BULBYI\SIUSIDNZ



—

4.56"

1.25"

0.75"

|

F—‘J\__/\J T

]

< : ) WOOD JAMB

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
B 2X BUCK (G >=0.42) wOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
F #10 X 2" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
Q #10 X 3" PFH WOOD SCREW (1.75" MIN. EMBEDMENT) STEEL
R 3/16" X 3-1/4" ITW CONCRETE SCREW STEEL
X 2X REINFORCEMENT (SG = 0.55) WOOD
1 WOOD JAMB (FINGER JOINT PINE ) WOOD
2 COMPOSITE JAMB COMP
7 WEATHERSTRIP FOAM
8 DOOR SWEEP VINYL
10 #10 X 1-1/2" PFH WOOD SCREW STEEL
11 #12 X 1-1/2" PFH WOOD SCREW STEEL
22 #8 X 3/4" PFH WOOD SCREW STEEL
23 #9 X 3/4" PFH WOOD SCREW STEEL
24 #9 X 1" PFH WOOD SCREW STEEL
25 #8 X 1-1/2" PFH WOOD SCREW STEEL
26 #8 X 5/8" PFH WOOD SCREW STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE STEEL

28A | DEADBOLT SUB STRIKE PLATE STEEL
29 4" X 4" HINGE STEEL
32 INSWING THRESHOLD ALUM/COMP
33 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP

40 | DOOR PANEL (BOOK]

-

41 | DOOR PANEL (HYBRID)

42 | DOOR PANEL (U1)

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the corners may be adjusted fo maintain the min.
edge distance to mortar joints.

., Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
. Concrete anchor table:

bl = : !
1APCON® | 1/4 1-3/4 r 4
DeWALT - . . "
ulRACONS] /4 1-3/4 ! 4
W o] 36 1-1/4" 3" 1-1/2"
TAPCON

WOOD SCREW INSTALLATION NOTES:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

i 456"

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.;: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F-—-11852

i 212"

@ COMPOSITE JAMB

32 INSWING THRESHOLD

Adjustable Composite Sill

I—— 2.08" —=]|

SIDELITE
ADAPTER

l’—— 248"

5.83"

33 INSWING THRESHOLD w/ SIDELITE ADAPTER
Composite Sil

x %]
& =
Q Q?Z
s Ei
K73 T ’;\_%
2 |4 =g
2N | =
Lo |2 Lo
& [k} OO0
i )
D g O
5 T |l ®
2 )
S t
& &
>_
i)
n
zZ
Q
12
4
Lt
S
o
zZ
oatE: 1/06/21
SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX-5154

SHEET _9 oF _9

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5154-55.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



